
Ord.No.704/38 4-Blatt-Rotorkopf Montage für JetCat PHT3-3

03/08

90535
M4

052
M4x33

Ord.No.68/50

Ord.No.52/20

75/2
4x 058
M5x42

9x20x6
90147 (S)
M4x12

060/30 (S)
M4 5mm 832/54

052
M4x33117/1

9x20x7 76/25

Ord.No.68/50117/12 4x 90536
M5

117/5 (S)
M5x14

JetCat (S) 

Ord.No.10/36

Ord.No.10/24

90535
M4

90185 (S)
M4x35

75/2
9x20x6

117/11

Ø 9,2

Ø 9,0
Fett



Rotorblätter Ord.No. 409/4 Ø 2100 mm max. 1050 rpm
Rotorblätter Ord.No. 412/4 Ø 2300 mm max. 920 rpm

03/08

Montage für JetCat PHT3 / PHT3-L

90535
M4

052
M4x33

Ord.No.68/53

90535
M4

Ord.No.52/10

Ord.No.832/68

75/2

4x 058
M5x42

9x20x6

060/30 (S)
M4 5mm75/2

9x20x6
052
M4x33

Ord.No.68/53
117/1
9x20x7 76/25

117/11

Ø 9,2
117/12 4x 90536

M5 35/52

Ø 9,0
Fett

117/5 (S)
M5x14

(S)

Ord.No.10/36
Ord.No.10/24

90185 (S)
M4x35

Ord.No.704/38 4-Blatt-Rotorkopf



Ord.No770/53 Bell 430 + BK 117

3

Ord.No.414/53 Bell 412  4-Blatt


